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Test 3 Trajectories 

 

Exercise 1 The position, velocity and acceleration of a mobile are given by: 

𝑥⃗  =  ( 
7 cos(𝑡)

 
4 sin(𝑡)

 ) 𝑣⃗  =  ( 
−7 sin(𝑡)

 
4 cos(𝑡)

 ) 𝑎⃗  =  ( 
−7 cos(𝑡)

 
−4 sin(𝑡)

 ) 

 

1) Draw the position of the mobile for  𝑡 = 0 ; 𝑡 = 90 ; 𝑡 = 180 ; 𝑡 = 270 ; 𝑡 = 360 

2) Draw the velocity of the mobile for  𝑡 = 0 ; 𝑡 = 90 ; 𝑡 = 180 ; 𝑡 = 270 ; 𝑡 = 360 

3) Draw the acceleration of the mobile for  𝑡 = 0 ; 𝑡 = 90 ; 𝑡 = 180 ; 𝑡 = 270 ; 𝑡 = 360 

4) Complete the trajectory.  

 

Exercise 2  The position, velocity and acceleration of a mobile are given by: 

𝑥⃗  =  ( 
−6 + 4𝑡

 
3 − 2𝑡

 ) 𝑣⃗  =  ( 
4
 

−2
 ) 𝑎⃗  =  ( 

0
 
0

 ) 

 



1) Draw the position of the mobile for  𝑡 = 0 ; 𝑡 = 1 ; 𝑡 = 2 ; 𝑡 = 3 

2) Draw the velocity of the mobile for  𝑡 = 0 ; 𝑡 = 1 ; 𝑡 = 2 ; 𝑡 = 3 

3) Complete the trajectory. 

 

Exercise 3  The position, velocity and acceleration of a mobile are given by: 

𝑥⃗  =  ( 
7𝑡
 

−5𝑡2 + 10𝑡
 ) 𝑣⃗  =  ( 

7
 

−10𝑡 + 10
 ) 𝑎⃗  =  ( 

0
 

−10
 ) 

 

1) Draw the position of the mobile for  𝑡 = 0 ; 𝑡 = 1 ; 𝑡 = 2 

2) Draw the velocity of the mobile for  𝑡 = 0 ; 𝑡 = 1 ; 𝑡 = 2 

3) Draw the acceleration of the mobile for  𝑡 = 0 ; 𝑡 = 1 ; 𝑡 = 2 

4) Complete the trajectory. 


